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QUESTION 1

What does the information in the service registry support?

A. The complete service lifecycle

B. Runtime lookup of service endpoints

C. Enhances messages through mediation

D. Transformation of messages between different technologies

Correct Answer: B

QUESTION 2

Access services represent which vital function in the IBM SOA Reference Architecture?
A. Distributed role-based access control mechanisms

B. Connectivity with existing and legacy functionality

C. Additional security at gateway points between domains

D. Services exposed across different business units or organizations

Correct Answer: B

QUESTION 3

Which three characteristics of services indicate a mature SOA environment?
A. Services are discoverable.

B. Services use Web 2.0 technology.

C. Services are exposed by an Enterprise Service Bus (ESB).

D. Services are composed into broader business functionality.

E. Services contain logic to provide compatibility across technologies.

F. Services use scripting languages to improve system responsiveness.

Correct Answer: ACD

QUESTION 4

Which technique improves a business process?
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A. Perform analysis of the resources being used by the process

B. Simulation of the process to identify and test improvements

C. Domain decomposition to identify the correct granularity of tasks

D. Monitoring availability of components that are used by the business process

Correct Answer: B

QUESTION 5

Why is business and IT alignment so important to SOA?

A. Applications can be rewritten to suit the needs of the business.

B. It allows for a significant investment in technology and hardware.

C. Business and IT can collectively fulfill the business needs and goals.

D. Business and IT can decide which vendors to use and which business functions to outsource.

Correct Answer: C
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